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M mEE sasae. G % 7Y hr g (Bg) :R:&E &R class
5 IR N BHRK FUT av R T-KIDS 48 kgik
5 TR 8 =R =R =y ) = 1% T-KIDS 48 kghk
B TR 8 A At R XF XA T-KIDS 57 kgik
5 IR 8 WH KX 7 FR XA H hy<o57 57 kgik
BF ZKBWE 8 =i WA Sy A O=bBns 77 48 kgik
ZF TEE 8 KE4AH E FFIATE TT7 O=bhno 77 66 kgik
B ZIR 8 kA KE HHEL XA KASUM I 62 kgik
B IR 8 &M EE YIF NAYAS KASUMI 85 kgik
B IR 8 )1lAa i=pi h7TF /NIL KASUMI 44 kghk
T IR 8 KJII Hic FTAAHT IVFE KASUM I 54 kgik
¥ TEE 8 ML P ES T 773 KASUMI 66~73 kghk
B IR 8 FHK AEFEAN ATFHH XAy TORIDE 41 kgik
5 R 8 5= HIi2 A4<L0 1+t TORIDE 62 kgik
ZF THE 8 =3 HIv T hF TORIDE 42 kgik
B TR 8 ik BEA 1+ URZ S MITO 52 kgik
B IR 8 AH =] 14 VArASS MITO 68 kgik
BF RKEE 8 K% % *AEY a2y KFEMEF 57 kgik
B IR 8 JAIRAK & A h77F% agF KA 62 kgik
BF REE AN  FEXR Hh75F ayx KEMEAF 85 kgik
ZF TR 8 R EZ4E 3307 DA KA 62 kgik
B TR 8 Ik fEL AHT7AHI LEY RFIr 48 kghk
B IR 8 &l =4 Ev< Javy RFIr 48 kgik
BF HARE 9 #R A TAYT avoy SPIDER 52 kgik
B HARE 9 #& &R =) Ry SPIDER 57 kgik
B HARE 9t g2 A7 Eok HRFEL R 48 kghk
B HARE 9 KE =] FHI VAV THUNDER 41 kgik
B HARE 9 FHE &% vy aF THUNDER 48 kghk
B HARE 9 Ly e Y<H¥F L~ THUNDER 57 kgik
B HARE 9 B 5N KXANY a7 %R THUNDER 68 kgik
ZF HAR 9 /N8 B axX< vy THUNDER 66~73 kghk
57 HER 10 K fEsl TAF URZN PALAISTRA 57 kghk
EF #HER 10 #Ag B <V HYF FoH PALAISTRA 57 kgik
BF BHEERE 10 4LE =3 YF¥Y7 F Y 0SA 48 kghk
B BHEE 10 £k 5 VAN ey 0SA 52 kgik
B7 HERE 104 BN H<vzx v/ R OSA 62 kgik
B HER 10 =+ = 74 hFX OSA 62 kgik
B¥ BEE 10 fuL AR s A6 £+ OSA 85 kgik
¥ HER 10 =+ &% 74 7Y OSA 50 kgik
BF HEE 10 100 LR ARaN a1y RA AN—=F7—=X 41 kghk
FF HBEE 10 BHAX —Bk 7% 4 F0 AN—05—X 62 kgik
BEF BERE 10582 WMAR v I anly) EMFLY Y — 48 kgfk
B BEE 1018 fmREE H7v< D>zow EMPLY v — 52 kgik
5 BHEE 10 &H =) 'V X Da o R7r EMrLY v — 68 kgik
ZF BERE 10 8F i R ++ =2 EMPLY v — 62 kgik
E¥F BHER 10 /)NEAZE K =) Tava FREY2=7 62 kgik
FF HEE 10 5H = L v FREY2=7 85 kg#k

BY HEE 10 2% HIK v/ TR NLIY 57 kegik
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PBE#R class
48 kgithk
57 kgitk
52 kgitk
54 kgitk
66 kgitk
42 kgihk
42 kgithk

85~110 kg

57 kgitk
48 kgihk
75 kgik
62 kgitk
85 kgitk
54 kgith
44 kgihk
62 kgitk
39 kgik
68 kgitk
62 kgik
57 kgitk
52 kgik
57 kgitk
48 kgithk
85 kgik
54 kgik
50 kgitk
41 kgihk
44 kgihk
34~38 kgik

85~110 kg

62 kgik
68 kgik
48 kgihk
62 kgik
68 kgik
48 kgithk
50 kgik
46 kgithk
62 kgik
66~73 kgik
52 kgik
52 kgitk
68 kgik
54 kgik
34~38 kgik
34~38 kgik
44 kgihk
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BF FTER 12 H
B TFEE 12 RER
BF FTERE 12HEB
BF FERE 12 LA
BF FTER 12 @H
ZF FERE 12 HE
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ZF FER 12 £
5 FEE 12 )8
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BF FERE 12 K&
5 FEE 12 Fé
EF FERE 124W
5 FEE 12 %K
BF FER 128Z%
BF FERE 1215
% FEE 12 Hhul
BF FERE 12 K=
BF FERE 12 FEH
5 FEE 12 RHE
EF FERE 12180
¥ FER 12 Mk
BF FER 124K
BF ER# 13 ki
BF ER#B 13 kA
BF E=ER# 13 Kb
5 ERE 13 BR
BF HER# 13 BE
BF ER#HB 13 1K
BF¥ ER# 1310
BF OER# 13 Wk
BF ER# 13 RE
BF HEFE# 13Tt
BF EF# 13 [
BF ER#B 13 =K
ZF Bx# 13 @+
ZF BJZR# 13 F
BF EF# 13IME
5 BE# 13 EE
BF EHE# 13 )l
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BF ER#B 13 KB
BF mER#H 13 Kk
BF ER#B 13 1E
EF ER&H 13 XH
% ERE 13 kH
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g (B%) @ &R:i AR class
MEYaz=7 48 kgik
MEY2=7 48 kgfk
MEYaz=7 52 kgik
N = Rl 52 kgik
MY 17 68 kgik
MFEY21z=7 42 kgik
MEYaz=7 46 kgik
FEEHS 54 kgik
Wmy77 48 kgik
wms77 52 kgfk
Wmy77 75 kgik
Wms77 85 kgik
FH—F 62 kgik
FFH—F 52 kgik
FH—F 41 kgik
HFH—F 44 kgik
FH—F 44 kgik
FH—+ 48 kgik
FH—F 48 kgik
FH—+ 52 kgik
FH—F 57 kgik
FH—+ 57 kgik
FH—F 46 kgik
PN 57 kghk
AACC 44 kgik
AACC 44 kgf,
AACC 48 kgik
AACC 48 kgik
AACC 52 kgik
AACC 57 kgik
AACC 62 kgik
BRAVE 62 kgik
BRAVE 85 kefk
ESK 85~110 kgik
i S SN 52 kghk
HAKOBEE TOKYO 57 kgik
JWA 54 kgik
JWA 58 kgik
LOTUS 34~38 kgik
LOTUS 48 kgik
LOTUS 44 kgik
MTX 34~38 kghk
MTX 48 kgik
MTX 52 kgik
MTX 52 kgik
MTX 57 kgik

MTX 62 kgik
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s HERFE mammno. o £ 7Y hr e (B&) @ XR&E F&#k class
FF BEER#B 13 KEF sE FHY7 1Fh MTX GK 44 kg#k
3] HRE 13 =B Y4+ REX R MTX GK 44 kgtk
2] RS 13 AR = VN il AV ¥ MTX GK 52 kgik
3] HR# 13 ERE 9= =DA% a¥ MTX GK 52 kgik
B RS 13 2B, KANER TA I %07 MTX GK 62 kgik
3 BERE 13 fub ¥ <ILY < Ugo~A MTX GK 62 kgik
3] EREHE 13 8K AKES RXF YawgAay MTX GK 68 kgik
3] HR#B 13 MR Kb 7 ¥R A F MTX GK 68 kgik
B AR 13 HEw K VN ok MTX GK 85 kgik
B RRAR 13 = f&ze V> niatd NIVY WRESTLE 52 kgik
3 ERHE 13 MK —zth #23/F% S/ Ry WRESTLE 52 kgik
B RRAR 13 R4 —iX FTHX~< 1y R WRESTLE 62 kgik
B AR 13 /W= BXEE 2340 - a=ly WRESTLE 68 kgik
B RRAR 13 EH ke Xt h U4 WRESTLE 68 kgik
3 EZR#E 13 gIH &t TIX a9F GLORIA 41 kghk
B ERRAR 13 XHF E— FAA *A4F GLORIA 48 kgik
B HRHE 13 F/lF TWAN A1 7HF a7 %4 Ky - Fh—7F 57 kgik
3] HE# 13 AtHh  E® YU E 2hYv FFC 44 kgtk
FF ER# 13 LK 54 Y<E >avy FFC 52 kgik
ZF FRH 13 &% HEX R4 ay+ FFC 66 kgik
B HRER 13 T8 —£ TEYV Ay = E8 34~38 kgk
3] RHE#D 13 BEEE N Y4+ avvav 7 HEKID'S 57 kgik
FF HZE# 13 LR X INFINT em b 7 HEKID'S 57 kgik
B ERAR 13 YR vy M1F VR4 wvYy /7T 7 HEKID'S 85~110 kgik
ZF  BRE 13 FiF D A 17*% 73 ZELOS 39 kgik
3] HR# 13 FEAKR BRE YL F vavy EESLZT 75 kg#k
FF ER# 13 ER e Hr2 2L BEYL1ZT 85~110 kg#k
FF HER# 13 ¥H SHEZE UK L 3L HEY 48 kgtk
FF ER#B 13 KB =— vl ¥AF HE 57 kg#k
FF EZR# 13 KK X FTFYAH VR HEY 85 kg#k
5 BHR#l 13 F i)z > ATV HE 68 kgik
B BE# 13 AHIE e Ly XL HED 85 kgik
2 BR# 13 EH XE NI R 24 F HEY 75 kg#k
FF HER# 13 XKH Bt i A k HEY 75 kgik
¥ EZER#H 13 AKX BBHE #H7EFbG T AN HE 46 kgik
ZF EER#H 13 b 1% K Ho7 HEY 66 kgik
ZF HERE#H# 13 @H P VA VAV HAREEE 54 kg#k
ZF ERE#B 13 FHiF =& 179* Tavy B Kz 62 kgik
ZF HFE#H 13ES L2 4 DAY % HAREEE 62 kgik
FF EZR#B 13 FHH AR 774 >avR AOESH 68 kgik
3] HRE 13 kAR BEA FF IR T7¥ b HEARC LR 57 kgik
FF BEER# 13 HLE i 1/97xT aga~A BHE% 68 kgik
3] HRE# 13 &)l =t TIAT k7 B HE% 57 kgik
FF EZR# 13 JLIg HE FRIO<T 3y IF BHE% 85 kg#k
3] HR# 13 R iR FHhHNT B+ & BHE% 75 kg#k
FF EER#B 13 HE tHKR 7L+t iy 4 BHE% 62 kgik

=] w14 2A =S EFVF 7% FireBoys 44 kgik
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% BT wwmene. Fo % ) h+ e (B&) @ XR&E Fs#k class
ZF mzmie 14 NE Y2 FRZ Jan FireBoys 42 kgtk
ZF wmEig 14 fnpE H A hbw % FireBoys 42 kgik
ZF wmzig 14 B AE=S FET Vida s FireBoys 46 kgik
| wae 14 5 2150 3t Damawy <HhHY 52 kg#k
ZF wmpie 14 EiG BT A4 7HF v/ <HWHY 50 kg#k
| wae 14 % [0 7< R <Y Lx NEXUS 34~38 kgfk
2 wWE)8 14 R = 7 INT XAHIAY NEXUS 34~38 kghk
B wae 14 1#H K#0 3% <k NEXUS 44 kgik
2] wmme 14 X% ERE Ry & <~ rZ NEXUS 52 kgik
ES W) 14 X% HE Ry R 147 NEXUS 62 kgik
5 mzie 14 REF & 7Y/ /JVax NEXUS 85 kgik
ZF wzne 14 BB &P H X ay NEXUS 42 kgfk
ZF wmpie 14 BIE A RhII< hv NEXUS 46 kgik
ZTF #RIR 14 KF = F/R > NEXUS 58 kgik
ZF wmzug 14 Zi HE Rhv~< Ia NEXUS 66~73 kgik
EF mzmige 14 FIK ®’IE TYh VR TBbySU 62 kgfk
5 mzie 14 KEF SRR IX/ rray TBbySU 48 kgik
ZTF #RIR 14 @R HFHHE tFF HyUF TBbySU 50 kgik
ZF wmzng 14 8RE & 14K EEF Yeh& 58 kgik
=] wmze 14 £F HER A% 1 T¥Z YJWC 62 kgik
=] mmie 14 NIE BB ary /)R YJWC 52 kghk
=] mz=ne 14 TR BKRES 2T 7F Fraany YJWC 62 kgik
ZF wzie 14 @& FF] 2FhH 74V YJWC 42 kgik
ZF wmzug 14 TR LT RTIF pa = YJWC 46 kgik
TF wmzlg 14 K&K #T FHY INF YJWC 46 kghk
=] wmze 14 BR & AHTZ S BIR7—X 52 kgfk
BEF wzie 14 L BIK Y<+h VAV BIRT7—X 75 kgitk
B wmEe 14 BRI K— NEH7 A F TOKAL jr 48 kgik
2] wxie 14 g REL  FUR Yay/¥> TOKALjr 57 kghk
BF wrug 14 55 LR ZHhNy L TOKAL j r 57 kgfk
| wmie 14 {ERk k3t vl 74 b TOKAL jr 62 kgik
2] mzmie 14 B BX hExAH FF* & REVRI—IL 48 kgfk
=] mz=ie 14 38H BEKEE H a4k az@aYy REVARYZ—IL 52 kgik
] mzie 14 ZERR JTE YA+ EhF REVAT—IL 57 kg#k
ZF wmzig 14 Ea -Ea 7RI ays REVRT—IL 50 kgik

TF mzie 14 =% Bk IvT B REVART—I 54 kgik



